
Décompose comme dans l’exemple :  

2 345 = 2 000 + 300 + 40 + 5 

8 879 = _________________________________ 

9 599 = _________________________________ 

1 523 = _________________________________ 

8 731 = _________________________________ 

1 592 = _________________________________ 

7 869 = _________________________________ 

Décompose comme dans l’exemple :  

5 742 = (5 x 1 000) + (7x 100) + (4 x 10) + 2 

6 334 

 

6 334 = (……. X 1000) + (…… x 100) + 

(……. X 10) + ……. 

2 198 

 

 

2 198 = (……. X 1000) + (…… x 100) + 

(……. X 10) + ……. 

1 711 

 

 

1 711 = (……. X …………) +  

(…… x …………) + (……. X ……)  

+ ……. 

8 884 

 

8 884 = (……. X …………) +  

(…… x …………) + (……. X ……)  

+ ……. 



Recompose comme dans l’exemple :  

2 000 + 400 + 30 + 8 = 2 438 

4 000 + 200 + 20 + 3 = ……………….  7 000 + 400 + 80 + 6 = ………………. 

6 000 + 300 + 50 + 5 = ……………….  3 000 + 900 + 20 + 1 = ………………. 

8 000 + 200 = ……………….   5 000 + 500 + 7 = ………………. 

 

Recompose comme dans l’exemple :  

(2 x 1000) + (4 x 100) + (3 x 10) + 8 

(6 x 1 000) + (2 x 100) + (3 x 10) + 4 = ………………. 

(3 x 1 000) + (7 x 100) + (4 x 10) + 6 = ………………. 

(5 x 1 000) + (4 x 100) + (7 x 10) + 2 = ………………. 

(4 x 1000) + (6 x 100) + (8 x 10) = ………………. 

(2 x 1 000) + (3 x 10) + 9 = ……………….  


